Prodotto di un monomio per un polinomio
Periodo 1 - UdA 7-8

Risolvere 1 seguenti prodotti in maniera da ottenere polinomi ordinati

22(3x + 1)
3x(—22% — bx)
—23(—2? + 2)

5a3(4 — 227)
—at(—4 4 227)
r(r+ 3 —x)

(b —x+2)

4(32% 4 62 — 1)
—2a% (423 — 2% + 3)
—4z(32% 4 51 — 2)
da(—4 + 2z — 29)
—22(52% 4 3 — 6x)
42%(5x — Tx + 2x)

—3x(—5x% 4 7 + 42°)



SOLUZIONI

Prodotto di un monomio per un polinomio  Periodo 1 - UdA 7-8

1 35 + 2] 1222 4 24z — 4
3] —62° — 1522 4] —8a° + 4zt — 627
5] r’ — 217 6] 1223 — 202° + 8z
71 —102° + 2023 8] —4a* 4 8x° — 162
9] —2x" + 4z [10]  —1023 + 1222 — 6z
1] 3 12] 0

[13] —2? + T [14] 323 — 21z



